Embedded Systems / Model-Based Design

Written exam – September 9 2015
Q1.

Given the following diagram

[image: image1]
Q1a - write a segment of C code that implements it

Q1b - define a test with state and transition coverage

Q2.
Given the (non-deterministic) FSM B, define a state machine C that abstracts it (but cannot be abstracted by it) and a deterministic state machine D that refines B. 


[image: image2]
Q3.
The functional block f computes a function of three inputs a, b and c.

the inputs are a([-40, 10] (integer) , b([SLOW, MEDIUM, FAST], c([-10, 20] (real)
Write a C program that generates all the input values (a, b, c) that are required for robustness testing.
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